
Density of States and Green's functions

- Consider system described by H / 4m> = Em / 4m>

- Density of states (DOS) is important attribute :
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for orbital f. is :
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- Define the ( retarded) Green's function :
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* Since It is a matrix
,
so is G

* consider upper left element :
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• Using : Iim
{→ É(E-E÷+ = SIE - Em)

projected Dos : no (E) = - ¥, Liz, Im Goo /Etie)

• Summing diagonal elements gives total DOS !
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- Let's do the calculation for the tight - binding
Hamiltonian (take Eo -0 ) :
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• choose sign so that proj . DOS is positive
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- Can also get DOS from summing dispersion over K :
(1--0--0)
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K

* convert to continuous K version :

%
dk→ Iii f.
%

(recall , k=2n)Na

Ya
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* Plotting the Dos : (1--0--0)
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